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void setup() {

pinMode (Hu, INPUT_PULLUP); // set input mode with pull-up MOS for hall sensor
pinMode (Hv, INPUT_PULLUP) ;

pinMode (Hw, INPUT_PULLUP) ;

attachlnterrupt (Hu, Hulrq, CHANGE); // attach interrupt
attachlnterrupt (Hv, Hvlrq, CHANGE);
attachlnterrupt (Hw, Hwlrq, CHANGE) ;

setPMM( ;. // set 3-phase PWM
}
//E—2 I, FEHI10ms

void loop() {
static int mode, count = 0, mod;
float accel, duty, Vdc;
static float prev_duty;
long time_s;

switch (mode) { //WBREIE, 7V EIHNR-T=HhEHER
case STOP:
if (R_ADCO->ADDR[9] < ACCEL_OFFSET) {
mode = RUN; //ZFETE—FA~
dir = 0;
pulseQutput () ;

break;
case RUN: //EATE— K
accel = R_ADCO->ADDR[9]; //FZHwILT—RZHE
accel = accel - ACCEL_OFFSET; /T D ILEM SDuty~DZE i
if (accel <= DED TIME) accel = DED_TIME + 1; //EED) =y FLE

if (accel > ADC_RESOLUTION) accel = ADG_RESOLUTION; //#fEDLILE®D!) = v LI
accel = (5.0 / 3.3) * accel * PWM_CYCLE / (ADC_RESOLUTION - AGCEL_OFFSET); //PWMA ™ > k~ZTih

if (accel >= (PWM_CYCLE - DED_TIME)) accel = PWM_CYCLE - DED_TIME; //PWMEEIH > > FEELU LD = v ML
duty = accel / ADG_RESOLUTION * 100 * 5.0 / 3.3;

if (duty >= 100) duty = 100;
if(duty <= 0) duty = 0;

R_GPT2->GTCCR[2] = R_GPT3->GTCCR[2] = R_GPT7->GTCCR[2] = DED_TIME + (PWM_CYCLE - DED_TIME) * (100 - duty) / 100; //

if (éR_ADg?(—);ADDR[Q] < (ACCEL_OFFSET / 2)) //7 % EIL{EH100/1023DHEIFEEHE— K~
mode = ;

//BIEE— KA
count = 0; //EIEDREE ¥ H1E
duty = 0; //duty & 0%
}
delay (10) ;

| pwmT. pulse_perc (R_ADCO->ADDR[0]*100. 0/ADC_RESOLUTION) ;



